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QUESTION 1

If AutoAccounting is set to derive accounting segments based on a standard line, the transaction line must be either
________________ or ________________. Otherwise, AutoAccounting cannot derive a valid account code
combination for revenue recognition. 

Identify the two values. (Choose two.) 

A. a standard memo line 

B. a purchasing item 

C. a credit memo line 

D. an inventory item 

E. a debit memo line 

Correct Answer: AD 

 

QUESTION 2

Identify two values that default from Customer Profile Classes. (Choose two.) 

A. Business Purpose 

B. Statement Cycle 

C. LegalEntity 

D. Tax 

E. Payment Terms 

Correct Answer: DE 

 

QUESTION 3

Which three interest rate calculation formula methods are supported in Receivables? (Choose three.) 

A. Average 

B. Flat Rate 

C. Declining Balance 

D. Simple 

E. Compound 

Correct Answer: BDE 
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QUESTION 4

Which two statements are true when you are using the Intercompany Reconciliation Process? (Choose two.) 

A. The Transaction Summary Report shows only transactions with a status of received. 

B. The Clearing Company Balancing Lines appear in the Intercompany Reconciliation Summary Report. 

C. The Reconciliation Period Summary Report shows the intercompany receivable and the intercompany payable lines
generated by the intercompany balancing feature. 

D. The ledger balancing lines are generated when theprimary balancing segment value is in balance but either the
second balancing segment or the third balancing segment is out of balance. 

E. You need to submit the Extract Intercompany Reconciliation Data job. 

Correct Answer: CD 

 

QUESTION 5

Your customer has three sites defined in the system, site 1, site2, and site 3. All sites have their own billing strategy
defined and Balance Forward Billing is enabled for site 1 and Site 2 at the account level. 

How will bills be generated? 

A. Sites 1, 2, and 3 activities will be included in a single bill. 

B. Sites 2and 3 activities will be included in a single bill. 

C. Sites 1 and 2 activities will be included in a single bill. 

D. Sites 1 and 3 activities will be included in a single bill. 

Correct Answer: C 
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